ECE 2504 Quiz # 2

Spring 2008
Name_________________

1. Determine the binary and hex equivalent of the BCD number 832
_______________________2


_______________________16

2. Determine the decimal equivalent of 32-bit floating point value C2FF8000 H which is in IEEE 754 format. Remember, the number of bits in each portion of the 32-bit value is: S=1, E=8, M=23.

_______________________10



3. Show how you would perform the operation 3310-6510 using two’s complement numbers. Make your numbers to 8 bits.





4. What does ASCII stand for? 
________________________________________________________

